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Key Stage 3 Target Questions – ALGEBRA 1
1.  Algebra Pairs


Join pairs of algebraic expressions that have the same value 
when a = 3, b = 2 and c = 6


One pair is joined for you.

[image: image2.wmf]   [image: image3.wmf]a

b

3

c

2

 

+

 

c

b

a

2

a

 

+

 

c

2

a

3

 

–

 

2

c

b


2 marks

2.  Simplify


Write each expression in its simplest form.


7 + 2t + 3t                       [image: image4.wmf]  ……………                       1 mark


b + 7 + 2b + 10                [image: image5.wmf]  …………………               1 mark

3.
Jo is planting a small orchard.


She plants cherry trees, plum trees, apple trees and pear trees.


n stands for the number of cherry trees Jo plants.

(a)
Jo plants the same number of plum trees as cherry trees.
How many plum trees does she plant?
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(b)
Jo plants twice as many apple trees as cherry trees.
How many apple trees does she plant?
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(c)
Jo plants 7 more pear trees than cherry trees.
How many pear trees does she plant?
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(d)
How many trees does Jo plant altogether?
Write your answer as simply as possible.
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The perimeter of this shape is 3t + 2s.

p = 3t + 2s

Write an expression for the perimeters of each of these shapes.
Write each expression in its simplest form.
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4 marks

5.   Mints


A teacher has 5 full packets of mints and 6 single mints.


The number of mints inside each packet is the same.
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The teacher tells the class:


‘Write an expression to show how many mints there are altogether.
Call the number of mints inside each packet y’


Here are some of the expressions that the pupils write:
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     (a)
Write down two expressions that are correct.
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2 marks

     (b)
A pupil says: ‘I think the teacher has a total of 56 mints’.


Could the pupil be correct? Tick ([image: image15.wmf]ü

) Yes or No.
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Explain how you know.[image: image19.wmf]
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